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Facvﬁomy Teinomials
inomial  Factored form Important Dbservations
X",; 9y + M= (‘;\/74- 7X7(+,7) 744 arefacz‘ors of 14 Whose sum is 7

Y-8y +15=(y- 3)(07 —5) -3¢ -5 arefactors of 15 Whose sum is -8
XY -ax-35=(x- 7)x+5) -1¢ 5 arefactors of -35 yWhose sum is -7
U -H/J -4 = [j’L é){g ~2) b ¢ -3 arefactors of /2 Whose sam is #

I X+ 20% +75 Factors of 75’

l+7§'=74)(

3+a5 = A8 X
+15 =20 V7

A+ bx + ¢ both factors are positive
A =bx +¢ both factors are maqaf{l/c

AxX*+ bx—¢  th v Lactor 3
AZ Svc&i/erggc—zarbfspﬁ}azie

aAx: —bx ~-¢ the larger factor LS 1 d'éu/e
the s¥ialler foetor |s 'pémé ve
Trinomials with a common factor
N A= 3ax +4
(1= 6x 1)
2G-2D)0-4)

both factors are nyaf-'/e



Jrinomials with a (eading coeffic/ent
I by? +/Gx +/0 Lactoes of ( actocs of /f
VAN \
] 6 )/
2 3 s
4/0 +l"/=’ 4/
/ + //0 = /év
]S +bAd =17
2-1 + 3:/)) = 39
o+ 3] = 2
o '(§+ 32 = / 4 L
22+ 25 =4 ¢«
) N
LY+ 19 #10 = @Y +8)OY+2)
“Forfect ""7_ re Trimomial s
at+ by + C
N X -8o+/6 =Y 163
9 a 7
(X—Y)
When the /eading coeffieient s 1
Z+ you can také the gquare yoot of ¢
andallc | = )bl then +he trinomial s a perfec Square
g. s
D Yyt rI0x a8 T-9 VI5=S
9 +5)
~ohen the leading coeFfizient és a. spuare :
Vou Can 4 ’edé/te_?: are root of o andc | |
and 20@)0E) = b, s he trinomial ¢ perfect spuare




77 Difference of Two Spuares
4a*- b* = @a+b)(@-k)

N 52— 44 SN J0-x*
= (2 B Y ~(73) =0 +x)(10-x)
=(x +1)(¥-7)
2 P- ) 49— Ls
:QY{/XZ';B)%))( S 9 ]
= 2Y(X+b)(X- = = i
2 4 (7r+33)(7r 35>

So/ut'nj Quadratic z_iauaf/orls

onee you have the Lactors of an eguation ,
Set &ach factor @ual to zero and Solye for Lhe variable
* Spluin
* Iind %Ae 2eros
° u)heg Lthe Lunction crosses Lhe x-axis

all mean the same fﬁmf
Set the epuation epual Zo zero and Solye.

The /ﬂgesi exponent: determines +he mayimum mimber oF Solutions.
Example  Type sf &y Degree  Nax 22 of Solid.:
Y- yf 4=0 Zﬁw (el %re B 2 e

a‘?g’-/?j =0  Cube 3 3
A’ -5a’+4=0 Quarte 4 ,

) LY*-/8x = 0

Ly(x-3)=o

LY=o  A-3-0
L b +3 +3
=0 X =3

X=£0,33 oluton $2C



/X +jﬁr +/S =0
)X+ 18X + 0% + /5 =0
JAX A+ )§%)+(/0x +/S) = ©
/ (:f?)t'w‘- 3) L 5(@x+3) = 0
(2xF3)(bx+5) = O
IX+3=0 LX +85=0
-3 =S -5 =S
rQ’__ = =3 X = -S
2 ) A &
X =-3 ¥ =_S_
2 b
Y=§-3 -573
Ca’ 3D
) Y-8y +/4
(X—4)
(-Y =0
44 4Y
X =¥
-4 =0
+4 ¥
y = VY Kemem ber takina +he Ssua
+ GuA Sigh is/al a&y.sl-l— -
=22 aivind vouwo solutons .
c d/
Y - RY =0
- "/Yz'-S(a =0
=QY(X+L) X-b)=0
Xz X 46 =0 X=6=0
Y =0 X =6 X<
=§-6,0,63




